S1TSFO3 Smartseat Tip & Fold

SMART FL§OR

Flexibility inside




Smartseat Tip & Fold SMARTF L§ OR

Flexibility inside

Partnumber

S1TSFO3

150r 16
33
30 or 31
32

39 or 40

50 or 51
54
53
13
41 or 42
52

45 or 46 or 47 or 48



— 4
x

O 00 N OO0 O A WN

W W W W W W W W W W N N N N N N NN DN N DN DN =2 == a3 = a3 2 =
O 00 N OO0 O AW N — O VvV 00 N OO0 0 B W N DN —= O W 0N O 00 W N = O

10

AN N N N N N N N N =

—_

N 00 N

Productname

Seat cushion foam

Seat cusion plywood
Seat cushion ABS insert
M4 claw nut

M5x16 Screw

Seat frame

M8x20 Screw

@13 Washer

Stainless bushing

Seat spring boundle
Backrest foam

Backrest rear ABS cover
22x24 Plastic plug
Backrest frame

Armrest Tip up right
Armrest Tip up left
Purlight symmetric armrest adapter
M8x18 Screw

M8x18 Screw

Plastic armrest plug
Regulation screw
Yellow Grabhandle
Black Grabhandle

169 hand holder plug
Grabhandle rear

126 hand holder plug
M5x30 Screw

12x9 steel bushing

Left side cover with hole
Left side cover

Right side cover with hole
Right side cover

4,8x14 rivet

Reclining knob

Plastic right pillar loop
Plastic left pillar loop
Headrest

Headrest bushing with lock
Headrest bushing

Lower rear backrest cover

SMARTFL()OR

Flexibility inside

Part number

S1TSF03-01-01-02-01v00
S1TAX03-01-04-01
S1TSF03-01-01-12v00
NNKEM-6SZT

NZ-0313
S1TAX03-01-03v00

ISO 4762 - M8 x 20
STAMBO01-07v02

DIN 125-13
SPP600N24893 + NZ-0295
S1TSF03-01-01-01-02v00
S1TSF02-01-01-02v00
TDOB36
S1TSF03-01-01-01-01v00
10019047

10019046
STMEDO1-10v00

DIN 7984-M8x16

ISO 7380 - M8 x 16
MZAssssF14,3C
NWRYPA-044-000-003/ASZT
10019050

10019049

A-004-2

10019048
WDC800182-02

ISO 4762 - M5 x 30
S2NOV01-01-07v03
S1TSF03-01-01-10v00
S1TSF03-01-01-06v00
S1TSF03-01-01-05v00
S1TSF03-01-01-09v00
NNIT4,8x14CPO

TPOKC

S-01-04-0004
S-01-04-0003
S1TSFO1-01-01-07v00
TTPZZB

TZPZBB
S1TSF03-01-01-04v00



40
41
42
43
44
45
46
47
48
49
50
51
52
53
54
55
56
57
58

Productname

Lower rear backrest cover with ISOFIX socket
Front backrest ABS cover

Front backrest ABS cover with ISOFIX socket
7/16" Washer

7/16"x3/4" UNF screw

Right complete turning base

Right complete turning base with ISOFIX
Left complete turning base

Left complete turning base with ISOFIX
Turning base locking mechanism

Turning base left handle

Turning base right handle

@13x@D18x9 PA bushing

Slider

M5x25 Screw

Handle cap

Smartseat Easy 3-point seat belt

Smartseat Easy seat belt holder

Retractor fixing boundle

SMARTFL()OR

Flexibility inside

Part number
S1TSF03-02-01-02v00
S1TSF03-01-01-03v00
S1TSF03-02-01-03v00
ASTM F436 - 7/16

AS 2465 - 7/16 x 3/4 UNF
S1TSF03-01-01-07v00
S1TSF03-02-01-04v00
S1TSF03-01-01-08v00
S1TSF03-02-01-05v00
STKAR02-05v03
S1TAX03-01-02-02v00
S1TAX03-02-01-02v00
1095840000VR
ST1KAR02-08v03

ISO 4762 - M5 x 25
NZ-0289

20001591

10020734

10020735



Seat cushion foam SMARTFL()OR

Flexibility inside

Partnumber

ST1TSF03-01-01-02-01v00

,?

375

320
465




Seat cushion plywood SMARTFLCOOR

Flexibility inside

Partnumber

STTAX03-01-04-01

4xP6

294
390
428

150

338




Seat cushion ABS insert SMARTFL()OR

Flexibility inside

Partnumber

S1TSF03-01-01-12v00

| \\
o\ o
’’’’’ - QB
)
310
O




M5 claw nut SMART FL§OR

Flexibility inside

Partnumber

NNKEM-6SZT

—
—
\_
9

@19



M5x16 Screw SMART FL§OR

Flexibility inside

Partnumber

NZ-0313




Seat frame SMARTFL()OR

Flexibility inside

Partnumber

S1TAX03-01-03v00

L
LN
e

|

|

|

|

|

1

|

|

|

!
390
442

180 150

370




M8x20 Screw SMART FL§OR

Flexibility inside

Partnumber

ISO 4762 - M8 x 20

28

20

@13



@13 Washer SMART FL§OR

Flexibility inside

Partnumber

DIN 125 - 13

@
AA_l 13 A-A

N

~

A AI @24 3




Stainless bushing SMART FL§OR

Flexibility inside
artnumber

STAMBO1-07v02

L J

24




Seat spring boundle SMARTF L§ OR

Flexibility inside

Partnumber

SSPP600N24893 + NZ-0295

@19

102

117




Backrest foam SMART FL§ OR

Flexibility inside

Partnumber

S1TSF03-01-01-01-02v00

=

|
|
=4

416 147




Backrest rear ABS cover SMARTF L§ OR

Flexibility inside

Partnumber

S1TSF02-01-01-02v00

- | O N T
|
|
| .
+ | + @
\
|
|
+ | + %
|
402 59




22x24 Plastic plug SMARTF L§ OR

Flexibility inside

Partnumber

TDOB36

@22

19

24




Backrest frame SMART FL§OR

Flexibility inside

Partnumber

S1TSF03-01-01-01-01v00




Armrest Tip up right & left

Partnumber

Right: 10019047 | Left: 10019046

@20

SMARTFL

Flexibility inside

¥

83

44

355

Bor




Purlight symmetric armrest adapter

Partnumber

SMARTFL

Flexibility inside

OR

STMEDO1-10v00

20

@9
&
@20
32

65

49




M8x18 Screw SMART FL§OR

Flexibility inside

Partnumber

DIN 7984 - M8 x 16

16
21

@13

21



M8x18 Screw SMART FL§OR

Flexibility inside

Partnumber

ISO 7380 - M8 x 16

P14

22



Plastic armrest plug SMARTFL()OR

Flexibility inside

Partnumber

MZASF14,3C

11

@17

23



Regulation screw SMARTFL()OR

Flexibility inside

Partnumber

NWRYPA-044-000-003/ASZT

34

16

24



Grabhandle Yellow | Black SMART FL§OR

Flexibility inside

Partnumber

Yellow: 10019050 | Black: 10019049

2x@P6

61

25



169 hand holder plug SMART FL§OR

Flexibility inside

Partnumber

A-004-2

21

@14

26



126 hand holder SMART FL§OR

Flexibility inside

Partnumber

wDC800182-01

2x@7

6
b
o
N

126
179

56

27



126 hand holder plug

Partnumber

SMARTFL

Flexibility inside

Bor

wDC800182-02

28

23

@20




M5x30 Screw SMARTF L§ OR

Flexibility inside

Partnumber

ISO 4762 - M5 x 30

30

35

@9

29



12x9 steel bushing

Partn

30

umber

S2NOV01-01-07v03

@12

@9

SMARTFL

Flexibility inside

Bor




Left side cover with hole SMARTF L§ OR

Flexibility inside

Partnumber

S1TSF03-01-01-10v00

214

@67

\

2x@8

31



Left side cover SMARTF L§ OR

Flexibility inside

Partnumber

S1TSF03-01-01-06v00

g
34

@67

O

\
©

2xP8

32



Right side cover with hole SMARTF L§ OR

Flexibility inside

Partnumber

S1TSF03-01-01-05v00

34

~ N\

186

33



Right side cover SMART FL§OR

Flexibility inside

Partnumber

S1TSF03-01-01-09v00

34

214

@67

&

186

2x@8

34



4,8x14 rivet SMART FL§OR

Flexibility inside

Partnumber

NNIT4,8x14CPO

35



Reclining knob

Partnumber

SMARTFL

Flexibility inside

Bor

TPOKC

36

32

@88




Plastic right pillar loop

Partnumber

37

S-01-04-0004

78

90

SMARTFL

Flexibility inside

63

OR




Plastic left pillar loop

Partnumber

SMARTFL

Flexibility inside

Bor

S-01-04-0003

38

78

90

63




Headrest

Partnumber

39

S1TSFO1-01-01-07v00

—

~

180

@10

106

236

368

SMARTFL

Flexibility inside

Bor




Headrest bushing with lock SMARTF L§ OR

Flexibility inside

Partnumber

TTPZZB

LB

E:cl'E

100

@11




Headrest bushing SMART FL§OR

Flexibility inside

Partnumber

TZPZBB

P11

E:C:"l:

100




Lower rear backrest cover SMARTFL()OR

Flexibility inside

Partnumber

S1TSF03-01-01-04v00

128

255 41

42



Lower rear backrest cover with ISOFIX socket

Partnumber

SMARTFL

Flexibility inside

OR

S1TSF03-02-01-02v00

43

255

370




Front backrest ABS cover SMARTF L§ OR

Flexibility inside
Partnumber

S1TSF03-01-01-03v00

1
o

yv
%

Candl]
=
106

255 88

348




SMART FL;}OR

Front backrest ABS cover with ISOFIX socket
Flexibility inside

Partnum ber
S1TSF03-02-01-03v00

107

255

340

45



7/16" Washer SMART FL§OR

Flexibility inside

Partnumber

ASTM F436 - 7/16

A @23
-
%
1
@12 -
A—-I 2

46



7/16"x3/4" UNF screw SMART FL§ OR

Flexibility inside

Partnumber

AS 2465 - 7/16 x 3/4 UNF

26

19

47



Right complete turning base

Partnumber

SMARTFL()OR

Flexibility inside

S1TSF03-01-01-07v00

0 /

195

460

115

In case of turning base frame damage you can order and replace only that element- in that case please contact producer.

48



Right complete turning base with ISOFIX

Partnumber

SMARTFL()OR

Flexibility inside

S1TSF03-02-01-04v00

460

195

115

In case of turning base frame damage you can order and replace only that element- in that case please contact producer.

49



Left complete turning base SMARTFL()OR

Flexibility inside

Partnumber

S1TSF03-01-01-08v00

B
&
-

460 115

In case of turning base frame damage you can order and replace only that element- in that case please contact producer.

50



Left complete turning base with ISOFIX

Partnumber

SMARTFL

Flexibility inside

OR

S1TSF03-02-01-05v00

195

51

460

115

In case of turning base frame damage you can order and replace only that element- in that case please contact producer.



Turning base locking mechanism SMARTFLCOOR

Flexibility inside

Partnumber

STKAR02-05v03

52



Turning base left handle

Partnumber

SMARTFL

Flexibility inside

OR

S1TAX03-01-02-02v00

53

308

166

29




Turning base right handle

Partnumber

S1TAX03-02-01-02v00

N\

308

SMARTFL

Flexibility inside

166

29

OR



D13x18x9 PA bushing SMART FL§OR

Flexibility inside
Partnum ber

1095840000VR

55



Slider SMART FL§OR

Flexibility inside

Partnumber

STKAR02-08v03

@10 B4

&
&

20 17

56



M5x25 Screw SMART FL§OR

Flexibility inside

Partnumber

ISO 4762 - M5 x 25

25

30

@9

57



Handle cap SMART FL§OR

Flexibility inside

Partnumber

NZ-0289

80

58



Smartseat Easy 3-point seat belt SMARTF L§ OR

Flexibility inside

Partnumber

20001591

59



Smartseat Easy seat belt holder SMARTF L§ OR

Flexibility inside

Partnumber

10020734

60



Retractor fixing boundle SMARTFL()OR

Flexibility inside

Partnumber

10020735

61



Notes SMART FL§OR

Flexibility inside

62



SMARTFL(QOR
Flexibility inside

Netherlands, Belgium and Luxembourg

Germany
SMARTFLOOR B.V. AMF-Bruns GmbH & Co. KG
Veldkampsweg 26 Hauptstrafle 101
7605 AR Almelo D-26689 Apen
Nederland Postfach 160
Telefoon : +31 546 45 55 65 D-26689 Apen
www.smartfloor.nl Tel. +49 4489 72 71 01

info@smartfloor.nl www.amf-bruns.de

hubmatik@amf-bruns.de
United Kingdom, Ireland

AMF-Bruns UK LTD

Asia
Unit 3, Parkway Four Smartfloor Seating (Thailand) Co. Ltd
Longbridge Road Kunwang Place 165/86
Trafford Park T.:Sanprapao A.: Sansai
Manchester Chiang Mai 50210 Thailand
M17 1SW
Tel. +44 161 872 7951 South Africa
www.amf-bruns.com AMF-Bruns South Africa
info@amf-bruns.co.uk Shoprider
92 Jakaranda Street
United States of America Unit # 13 Diamond Park

AMEF-Bruns of America LP
1797 Georgetown Road
Hudson - OH 44236
Phone +1 877 506 3770

www.amfbrunsamerica.com

Hennopspark - CENTURION Phone +27 12 653

www.amf-bruns.co.za

Z S @ &

BRUNS

Member of AMF-Bruns group



